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CSEC Information Technology

Paper 02

Question 4

Candidate earned full marks for this question.

Commails

The candidate was able to interpret the questions appropriately and expressions were clear
especially in Parts (d) (I) and d (ii).

For Part (b), the candidate was able to clearly identify the media as opposed to the devices.

The diagrams in Part (c) were appropriately identified and clear distinctions were made
between the networks.

Overall the candidate demonstrated knowledge of the contents and applied the knowledge
appropriately.
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